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With the mid of a sketch, show five elements of a curve, {4 marks)

A circalar curve of 650 m mdius is to connect two strnights A BI and C DI at

A and C respectively, The intersection point 115 inaccessible and therefore the
deflection angle is indeterminable, If the angles at Aand & and the distance BD are
measured as follows:
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Calculate the: furve = P

{1} distunce of the tangent points from B and [ on the respective straights;

i) length of the final sub chord, iT the curve 15 set out at 30 m imerval aking the
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chainage at A to be 1200 m;

fiir)  deflection angles of the first suchord, standard chord and Jast sub chord,

{16 marks)
Explain the following terms as gpplied to theodolite surveying:
(1) face night obsenvations;
(i1} centering;
(i} transiting;
{iv)  swinging the telescope. {6 marks)

Differentiate between temporary and permanent adjustments as applied to a theodolite.
{4 marks)

Tabile 1 shows reduced distances and adjusted bearings of a traverse run between
two known points TR1 and TR2, Given the datum coordinates of TR1 and TR2 as:

Station — Marthings{m} — Eastings {m}
1 250276.66 128743.92
TR2 24971447 128325.37
Compule:

{1} The adjusted coordinates of the new traverse points N1, N2, N3 and N4 by
Bowditch’s method of adjustmont,

{ii)  Traverse accuracy. { 10 marks)
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